





$$y(x) = \begin{cases} -1, & x \in (0, e^{-\frac{\pi}{2}-c}] \\ \sin(\log x + c), & x \in (e^{-\frac{\pi}{2}-c}, e^{\frac{\pi}{2}-c}) \\ 1, & x \in [e^{\frac{\pi}{2}-c}, \infty) \end{cases}$$

$$y' = \frac{1}{x} \sqrt{1-y^2}$$

$> 0$

$$y' + r y = q \quad r, q: (a, b) \rightarrow \mathbb{R} \text{ spojité}, \quad y(x_0) = y_0$$

$$x_0 \in (a, b)$$

$$y(x) = \int_{x_0}^x q(t) e^{P(t)} dt \cdot e^{-P(x)} + y_0 e^{-P(x)}$$

$$P' = r$$

$$y' + r y = 0 \quad y(x) = k e^{-P(x)}, \quad x \in (a, b) \quad k \in \mathbb{R}$$

$$y' = -r y \quad P(x_0) = 0$$

$$y(x) = k(x) e^{-P(x)}$$

$$\underbrace{k' e^{-P} + k e^{-P} \cdot (-r)}_{y'} + r k e^{-P} = q$$

$$k' e^{-P} = q$$

$$k' = q e^P$$

$$k = \int_{x_0}^x q(t) e^{P(t)} dt + C$$

$$\boxed{2} \quad y' - \frac{2}{x}y = \overbrace{2x^3}, \quad (0, \infty)$$

$$p(x) = -\frac{2}{x} \quad q(x) = 2x^3 \quad P' = p$$

$$\int \frac{-2}{x} dx \stackrel{c}{=} -2 \log x, \quad x \in (0, \infty) \quad \underline{P(x) = -2 \log x}$$

$$\int q(t) e^{P(t)} dt = \int 2t^3 \cdot \underbrace{e^{-2 \log t}}_{t^{-2}} dt = \int 2t dt \stackrel{c}{=} t^2$$

$$y(x) = x^2 \cdot e^{-P(x)} + c e^{-P(x)} \\ = x^4 + c x^2, \quad x \in (0, \infty), \quad c \in \mathbb{R}$$

$$\underline{y(1) = 1}$$

$$y(1) = 1 + c = 1 \Rightarrow c = 0$$

$$y(x) = x^4, \quad x \in (0, \infty)$$

$$\boxed{3} \quad y' - \frac{1}{x+1} y = \frac{1}{100} \quad (-1, \infty)$$

$$p(x) = -\frac{1}{x+1}$$

$$q(x) = \frac{1}{100}$$

$$\int p(x) dx = \int -\frac{1}{x+1} dx \stackrel{c}{=} -\underbrace{\log(x+1)}_{P(x)}, \quad x \in (-1, \infty)$$

$$\int q(t) e^{P(t)} dt = \int \frac{1}{100} \frac{1}{t+1} dt \stackrel{c}{=} \frac{1}{100} \log(t+1), \quad t \in (-1, \infty)$$

$$y(x) = \frac{1}{100} \log(x+1) e^{-P(x)} + c e^{-P(x)}$$

$$= \frac{1}{100} \log(x+1) \cdot (x+1) + c(x+1), \quad x \in (-1, \infty)$$

$c \in \mathbb{R}$

$$\boxed{4} \quad y' + y = x e^x \quad \mathbb{R}$$

$$r(x) = 1$$

$$P(x) = x$$

$$q(x) = x e^x$$

$$\int 1 e^x \cdot e^x dx = \int 1 e^{2x} dx = \int 1 \frac{1}{2} e^{2x} - \int 1 \cdot \frac{1}{2} e^{2x} dx$$

$\underbrace{\quad \quad}_{u \quad v'} \qquad \underbrace{\quad \quad}_{u \quad v} \qquad \underbrace{\quad \quad}_{u' \quad v}$

$$= \frac{1}{2} 1 e^{2x} - \frac{1}{4} e^{2x}$$

$$y(x) = \left( \frac{1}{2} x e^{2x} - \frac{1}{4} e^{2x} \right) e^{-x} + c e^{-x}$$

$$= \left( \frac{1}{2} x e^{2x} - \frac{1}{4} e^{2x} \right) e^{-x} + c e^{-x}$$

$$= \frac{1}{2} x e^x - \frac{1}{4} e^x + c e^{-x}, \quad x \in \mathbb{R}, \quad c \in \mathbb{R}$$